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This exam contains 7 pages (including this page) and 5 questions. Total of points is 120.
_ Work neatly and show all your work, including all intermediate steps and also explain
In words how you are solving a problem. Partial credits are available for most problems.
Calculators are not allowed in this exam. You have 50 minutes.
Grade Table (for instructor use only)
Question | Points | Score
1 20 (20
2 20 | |3
3 20 //L)
4 0 | 1|
B 20 |(|o
Total: 120 | 34
1. (20 points) (a) (10 points) Are the vectors (1,4,7), (2,5,8), (3,6,9) in the same plane?
A7 Show the reason;
] (b) (10 points) If yes, find the equation of such a plane.
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2. (20 points) (a) (10 points) Let £ denote the intersection of the planes z = 1 and y+2 =
2. Find parametric equations for the line L

(b) (10 points) Find parametric equations for the line through Po = (3,~1, 1) Gempese
dicular to the plane 3z + 5y — 7z = 29.
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4. (20 points) (a)
(;rl Y, :-),

b) (5 points) Ex
¥, 2).
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(15 points) Solve the equation (1,1,1) x # = (1,-1,0) where 5

plain geometrically why (1,1,1) x ¥ = (1,0,0) has no solution where
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5. (20 points) Use the cross

product to fi : " : .
Q=(2,2) and R = (1,0). | 0 find the area of the triangle with vertices P = (1,1),
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